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7.    7 ∙ 45 = x + 207       
          315 = x + 207
             x = 315 -207
             x = 108

8.    a)  x : 5 = 65                        b)  44 + x = 100
                x = 65 ∙ 5                                x = 100 – 44             100
           x = 325       325 : 5 = 65               x = 56                  -    44
                                                                                               56
     c)   x – 12 = 50                          č)  9 ∙ x = 72
                  x = 50 + 12          62              x = 72 : 9        9 ∙ 8 = 72
                  x = 62               - 12               x = 8
                                             50


9.         32 790 – x = 2876
                         x = 32790 – 2876
                         x = 29 914
x – 212 341 = 43 876                               54 637 –  x = 23 651
              x = 43876 + 212341                                x = 54637 - 23651
                x = 256 217                                           x = 30986


